Juno160L
Juno120L

INSTALLATION MANUAL (UK)

RAIS attika

AAAAA # FIRE FEUERKULTUR



a9

The production number can be found underneath the burning chamber.




INSTALLATION MANUAL

CONTENTS
Installation manual 4
In general 4
Chimney 4
Technical data 5
Specifications 5
Dimensional sketches 6
Information plate 10
Installation 12
Delivery packaging 12
Disposal of packaging 12
Installation distances 13
Height adjustment 16
Fitting/changing the handle 17
Removing the combustion chamber lining 18
Lubricating hinges 19
Fitting the smoke outlet spigot 20
installation with swivel base 22
Mounting of the stones for Juno 120 L 24
Mounting of the stones for Juno 120 L G 32
Mounting of the stones for Juno 160 L 40
Mounting of the stones for Juno 160 L G 50
Airinlet cover 60
Alternate top plate location 61
Test certificate 62
Declaration of performance 63

This manual applies to the following models:
Juno 120 L

Juno 120 L G - (Sideglass)

Juno 120 L Classic

Juno 120 L G Cassic - (Sideglass)

Juno 120 L CleverAir

Juno 120 L G CleverAir - (Sideglass)

Juno 120 L CleverAir Classic

Juno 120 L G CleverAir Classic - (Sideglass)
Juno 160 L

Juno 160 L G - (Sideglass)

Juno 160 L Classic

Juno 160 L G Cassic - (Sideglass)

Juno 160 L CleverAir

Juno 160 L G CleverAir - (Sideglass)

Juno 160 L CleverAir Classic

Juno 160 L G CleverAir Classic - (Sideglass)

Revision: 8
Date: 16-05-2023 We are not responsible for typographical errors. 3

a9



a9

INSTALLATION MANUAL

INSTALLATION MANUAL

Thank you for choosing your new RAIS
product! This installation manual will
ensure that your fireplace insert is in-
stalled correctly and that it will provide
you with comfort and pleasure for many
years to come.

IN GENERAL

It is important to correctly install the
stove out of consideration for both the
environment and personal safety. The
installation of the stove must comply
with all local rules and regulations, in-
cluding those that refer to national and
European standards. A certified chim-
ney sweeper should be contacted be-
fore the installation is started.

No unauthorised alterations may be
made to the stove.

GENERAL
MENTS

INSTALLATION  REQUIRE-

Before the stove may be put to use, the
installation must be reported to your lo-
cal chimney sweeper.

There must be a plentiful supply of fresh
air in the installation room to ensure
good combustion - if required, through
an Air-System connection. NB: Any me-
chanical air extraction, for example a
cooker hood, can minimise the supply
of air.

The wood-burning stove has an air con-
sumption of at least 13 m3/h.

The floor structure must be able to sup-
port the weight of the wood-burning
stove and a chimney. If the existing floor
structure does not meet this require-
ment, suitable measures must be taken
(e.g. installation of a load distribution
plate). Seek advice from a building ex-
pert.

Afthe wood-burning stove is to be in-

stalled on a flammable floor, national
and local regulations must be com-
plied with, including for the size of the
non-flammable plate, which must cover
the floor in front of the wood-burning
stove to protect the floor from any em-
bers that fall out of the stove.

The stove must be positioned at a safe
distance from flammable material. Due
to risk of fire, flammable items (e.g. fur-
niture) may not be positioned closer to
the stove than the closest permitted
distance stated in the installation sec-
tion. When deciding where to install
your RAIS/ATTIKA stove, you should
think about being able to heat other
rooms in the home, so you get the most
out of your new stove.

After receiving your stove, please check
it for any defects.

CHIMNEY

The chimney must be tall enough to
ensure correct draught conditions,
ie. -12 to -18 pascal. If the recom-
mended chimney draught cannot
be achieved, problems from smoke
escaping from the door may arise
when lighting the fire. We recommend
adapting the chimney to suit the flue
outlet connector. The flue outlet con-
nectoris 150 mm in diameter.

If the draught is excessive, it is recom-
mended that you equip the chimney
with a regulating damper. If a regulating
damper is fitted, you must ensure that
there is a free flow area of at least 20
cm? at the closed regulating damper.

Remember that there must be unob-
structed access to the access door on
the chimney.



TECHNICAL DATA

The technical data given below includes specifications, dimensional drawings and the

information plate.

SPECIFICATIONS

KIWA ref.: 61589

NS3058/3059 (g/kg)

Cleaver 1,890

JUNO 120 L JUNO 160 L

Nominal output (kW) 4.8 4.8
Min./Max. Output (kW): 3-7* 3-7*
Heating area (m?) 100 100
z:r:qr(?rﬁalace insert width/depth/height @468 X 1223 3468 X 1673
Combustion chamber W x D x H (mm) 352 X292 X 305** 352 X 292 X 305**
Min. uptake (pascal) -12 -12
Weight (kg) min., depending on the
model: 203 257
Efficiency (%) 80 80
CO emission attributed to 13% 02 (%) 0.0602 0.0602

(752 mg/Nm?3) (752 mg/Nm3)
NOx emission attributed to 13% 02
(mgINm?) o0 i
Particle emission in accordance with Manuel 2,116 Manuel 2,116

Cleaver 1,890

Dust measurement in accordance with

be done within

DIN +13% O2 (mg/Nm?) 6 6

Flue gas flow (g/s) 4.4 4.4
Flue gas temperature (°C) 282 282
Recommended amount of wood (kg)

when stoking the fire (Distributed be- 14 14
tween 2 logs, each max. 24 cm)

Intermittent operation Stoking should 50 minutes 50 minutes

*Not verified by test.
**Max. load

a9



DIMENSIONAL SKETCHES

¥LTNAYIAIS s e 1SSOTLb
e P ETEral 100p sse[9
v_ o “_. “_. - A A 7 02T oung

GB



DIMENSIONAL SKETCHES

Glass door, Side glass

Juno120L G
4716552

a9



DIMENSIONAL SKETCHES

€501

Y-v
dNLindy¥y3in3id 3814 = 40 L¥y Mmmm.ﬂh.v
am Al A A o AR
PMMIT1TP J0op sse|
e3!11le Sivd 051 oung



DIMENSIONAL SKETCHES

a9

)
0]
K
()]
(]
=
QO wn
— =
Ooq-
o O
ﬁ-cm
)
o (e}
SEF
A 0O«



a9

Information plate

Information plate

All RAIS fireplace inserts have an information plate which states the stove’s distance
from flammable materials, efficiency, etc. The information plate is laid loose in the

fireplace insert on delivery.

Information plate for models without side glass

16

EN13240:2001+A2:2004,
EC.NO: 171

Notified Body: 1235

C€

Produced at:

RAIS A[S, Industrivej 20, 9900 Frederikshavn, Danmark

Juno 128 II:Huno120 LCA/Juno 120 L Classic / Juno 120 L CLASSIC CA

Juno 16

uno 160 L CA [ Juno 160 L Classic [ Juno 160 L CLASSIC CA

AFSTAND TIL BRENDBART, BAGVAG

ABSTAND ZU BRENNBAREN BAUTEILEN, HINTEN
DISTANCE TO COMBUSTIBLE BACK WALL

DIST. ENTRE COMPOSANTS COMBUSTIBLES, ARRIERE

AFSTAND TIL BRENDBART, SIDEVAG

ABSTAND ZU BRENNBAREN BAUTEILEN, SEITE
DISTANCE TO COMBUSTIBLE SIDE WALL

DISTANCE ENTRE COMPOSANTS COMBUSTIBLES, COTE

AFSTAND TIL BRANDBART, M@BLERING

ABSTAND VORNE ZU BRENNBAREN MOBELN
DISTANCE TO FURNITURE AT THE FRONT

DISTANCE ENTRE COMPOSANTS COMBUSTIBLES, DEVANT

CO EMISSION (REL. 13% 02)

CO EMISSION IN DEN VERBRENNUNGSPRODUKTEN (BEI 13%02)
EMISSION OF CO IN COMBUSTION PRODUCTS (AT 13%02)
EMISSION CO DANS LES PRODUITS COMBUSTIBLES (A 13%02)

ST@V | STAUB | DUST | POUSSIERES:

ROGGASTEMPERATUR | ABGASTEMPERATUR |
FLUE GAS TEMPERATURE | TEMPERATURE DES GAZ DE FUMEE:

NOMINEL EFFEKT | HEIZLEISTUNG /

THERMAL OUTPUT | PUISSANCE CALORIFIQUE:
VIRKNINGSGRAD | ENERGIEEFFIZIENZ |
ENERGY EFFIENCY EFFICACITE ENERGETIQUE:

DK: Brug kun anbefalede braendsler. Falg instrukserne i bruger manualen.
Anordningen er egnet til reggassamleledning og intervalfyring.

DE: Lesen und befolgen Sie die Bedienungsanleitung.
Zeitbrandfeuerstétte. Nur empfohlene Brennstoffe einsetzen.

UK: Fuel types (only recommended). Follow the installation and
operating instruction manual. Intermittent operation.

F: Veuillez lire et observer les instructions du mode d’emploi.

Foyer a durée de combustion limitée, homologué pour

cheminée a connexions multiples. Utiliser seulement les

combustibles recommandés.

(UK) Not to be used in a shared flue

DK: 75mm SE BRUGERVEJLEDNING

DE: 75mm SIEHE BEDIENUNGSANLEITUNG

UK: 75mm SEE USER MANUAL

FR: 75mm CONSULTEZ LE GUIDE DE LUTILISATEUR

DK: 400mm SE BRUGERVEJLEDNING

DE: 400mm SIEHE BEDIENUNGSANLEITUNG

UK: 400mm SEE USER MANUAL

FR: 400mm CONSULTEZ LE GUIDE DE LUTILISATEUR

DK: 850mm SE BRUGERVEJLEDNING
DE: 850mm SIEHE BEDIENUNGSANLEITUNG

UK: 850mm SEE USER MANUAL
FR: 850mm CONSULTEZ LE GUIDE DE LUTILISATEUR

0,0602 % [ 752 mg/Nm?

6 mg/Nm?

282°C
5,6 kW (UK 4,8KW)
80 %
DK: BRANDE
DE: HOLZ
UK: WOOD
FR: BOIS
Raumheizer fiir feste Brennstoffe

Appliance fired by wood
Poéle pour combustibles solides

15a B-VG
VKE-NR:22767
Typ FC41x FC51x

Produced for:
ATTIKA FEUER AG, Brunnmatt 16, CH-6330 Cham /
RAIS A/S, Industrivej 20, DK-9900 Frederikshavn



Information plate for models with side glass

16

EN 13240:2001+A2:2004,
EC.NO: 171

Notified Body: 1235

Ce

U
Cc

Produced at:

RAIS A/S, Industrivej 20, 9900 Frederikshavn, Danmark

Juno120 L G/Juno 120 L G CA/Juno 120 L G Classic / Juno 120 L G CLASSIC CA
Juno 160 LG/Juno 160 L G CA/Juno 160 L G Classic / Juno 160 L G CLASSIC CA

AFSTAND TIL BRENDBART, BAGVAG

ABSTAND ZU BRENNBAREN BAUTEILEN, HINTEN
DISTANCE TO COMBUSTIBLE BACK WALL

DIST. ENTRE COMPOSANTS COMBUSTIBLES, ARRIERE

AFSTAND TIL BRANDBART, SIDEVAG

ABSTAND ZU BRENNBAREN BAUTEILEN, SEITE
DISTANCE TO COMBUSTIBLE SIDE WALL

DISTANCE ENTRE COMPOSANTS COMBUSTIBLES, COTE

AFSTAND TIL BRANDBART, M@BLERING

ABSTAND VORNE ZU BRENNBAREN MOBELN

DISTANCE TO FURNITURE AT THE FRONT

DISTANCE ENTRE COMPOSANTS COMBUSTIBLES, DEVANT

CO EMISSION (REL. 13% 02)

CO EMISSION IN DEN VERBRENNUNGSPRODUKTEN (BEI 13%02)
EMISSION OF CO IN COMBUSTION PRODUCTS (AT 13%02)
EMISSION CO DANS LES PRODUITS COMBUSTIBLES (A 13%02)

ST@V | STAUB | DUST | POUSSIERES:

ROGGASTEMPERATUR | ABGASTEMPERATUR |
FLUE GAS TEMPERATURE | TEMPERATURE DES GAZ DE FUMEE:

NOMINEL EFFEKT | HEIZLEISTUNG /

THERMAL OUTPUT | PUISSANCE CALORIFIQUE:
VIRKNINGSGRAD | ENERGIEEFFIZIENZ |
ENERGY EFFIENCY /EFFICACITE ENERGETIQUE:

DK: Brug kun anbefalede breendsler. Falg instrukserne i bruger manualen.
Anordningen er egnet til reggassamleledning og intervalfyring.

DE: Lesen und befolgen Sie die Bedienungsanleitung.
Zeitbrandfeuerstatte. Nur empfohlene Brennstoffe einsetzen.

UK: Fuel types (only recommended). Follow the installation and
operating instruction manual. Intermittent operation.

F: Veuillez lire et observer les instructions du mode d’emploi.

Foyer a durée de combustion limitée, homologué pour

cheminée & connexions multiples. Utiliser seulement les

combustibles recommandés.

(UK) Not to be used in a shared flue

DK: 75mm SE BRUGERVEJLEDNING

DE: 75mm SIEHE BEDIENUNGSANLEITUNG

UK: 75mm SEE USER MANUAL

FR: 75mm CONSULTEZ LE GUIDE DE L'UTILISATEUR

DK: 500mm SE BRUGERVEJLEDNING

DE: 500mm SIEHE BEDIENUNGSANLEITUNG

UK: 500mm SEE USER MANUAL

FR: 500mm CONSULTEZ LE GUIDE DE L'UTILISATEUR

DK: 800mm SE BRUGERVEJLEDNING
DE: 800mm SIEHE BEDIENUNGSANLEITUNG

UK: 800mm SEE USER MANUAL
FR: 800mm CONSULTEZ LE GUIDE DE LUTILISATEUR

0,0602 % | 752 mg/Nm?

6 mg/Nm?
282°C
5,6 kW (UK 4,8KW)
80 %
DK: BRANDE
DE: HOLZ
UK: WOOD
FR: BOIS
Raumheizer fiir feste Brennstoffe

Appliance fired by wood
Poéle pour combustibles solides

15a B-VG
VKF-NR:22767
Typ FC41x FC51x

I alhAal fAare inAa 49N 1T R LLinAa 12N 1

Produced for:
ATTIKA FEUER AG, Brunnmatt 16, CH-6330 Cham /
RAIS A/S, Industrivej 20, DK-9900 Frederikshavn

NP AMAanial A~ Claviar Aiv enimlAd A2 N2 YNN2 11

a9



INSTALLATION

INSTALLATION

The following section explains how to install the stove and includes information about

the packaging, installation distances etc.

DELIVERY PACKAGING

Upon delivery, the stove is secured to a transport pallet using four transport safety

fittings, one in each corner (A).

The safety fittings are secured with screws, which must be unscrewed. The safety fit-

tings can then be removed (B).

a9

The top of the wood-burning stove has two polystyrene blocks (1), which protect the
combustion chamber lining in transit. These must be removed before starting a fire in

the stove.

DISPOSAL OF PACKAGING

RECYCLING

The fireplace insert is delivered in recyclable packag-
ing.

This packaging must be disposed of in accordance
with national regulations relating to the disposal of
waste.

12

The glass is not recyclable.

The glass must be disposed of along with any re-
sidual ceramic or porcelain waste. Heat-resistant
glass has a higher melting point, which is why it is
not recyclable.

By ensuring heat-resistant glass does not end up
alongside recyclable products you are making an
important contribution to the environment.



INSTALLATION DISTANCES

INSTALLATION DISTANCES.

IMPORTANT:

Please bear in mind that the installation distances on the following pag-
es only apply to the wood-burning stove.

The final choice of Chimney solution may have a larger safety distance to
the flammable material. The Chimney solution must always be installed
in accordance with current building regulations and in a manner that
ensures CE-marking compliance.

13

a9



a9

INSTALLATION DISTANCES

INSTALLATION DISTANCE TO FLAMMABLE MATERIAL:
The installation distances applicable to the wood-burning stove are shown below

in mind that the final choice of chimney may have a different safety distance.
All dimensions are in mm.

Flammable ceiling

Right-angle installation

o
wn
@

Corner installation

Safety distances to the flammable ceiling are measured from above the door.

14

. Bear



INSTALLATION DISTANCES

INSTALLATION DISTANCE TO FLAMMABLE MATERIALWITH SIDE GLASSES

Right-angle installation Corner installation

15

a9



a9

HEIGHT ADJUSTMENT

HEIGHT ADJUSTMENT

The stove is equipped with four adjustment screws (1) un-
der the stove.

Use the adjustment screws to ensure the wood-burning
stove stands level.

16



FITTING THE HANDLE

FITTING/CHANGING THE HANDLE

The wood-burning stove comes with atem-
porary handle (1). To remove it, undo the
screws (2). and the washers (3) The new han-
dle (4) can now be fitted to the stove using
the screws (2) and the washers (3).

17

a9



a9

REMOVING THE COMBUSTION CHAMBER LINING

REMOVING THE COMBUSTION CHAMBER LINING

The combustion chamber lining protects the body of
the stove from the heat of the fire. The large differences
in temperature can lead to cracks in the combustion
chamber lining. This will not affect the functionality of
the stove. The lining will only need be replaced after sev-
eral years of use when it begins to disintegrate. The liner
panels are easy to place in position in the stove and can
easily be replaced by you or your dealer.

Procedure for removing the combustion chamber lining:

1. Remove the smoke deflector plate (1) by pulling it for-
wards and downwards so that the rear end is free of the
vertical plates. The smoke deflector can now be carefully
removed.

2. Remove the base panels (2).

3. Loosen the side plates (3) by turning
the front end of the plate towards
the center of the oven. Then take
them out carefully.

4. Remove the corner plates (4)
by pulling the bottom of the
plates forward and out.

5.The back plate (5) is now loose
and can be removed.

6. Remove the corner plates (6)
by pushing the bottom of the stone
back and out.

7 The front stones (7) & (8) can now be taken
up and out.

To re-install the combustion chamber lining sections,
repeat the above procedure in reverse order.

MAX LOAD

The maximum allowable quantity of
wood is marked by the bottom row of
holes on the rear panels. In other words,
wood should not go above this line.

18



LUBRICATING THE HINGES

LUBRICATING THE HINGES & LOCK

The fireplace must be lubricated regularly using the four moving parts on the lock and
hinges (see image). Use heat-resistant oil.

19

a9



Smoke outlet spigot

MOUNTING OF THE SMOKE OUTLET SPIGOT

THE SMOKE OUTLET SPIGOT CAN BE TURNED TWO WAYS. YOU CAN CHOOSE ElI-
THER WAY.

Version A uses the three free holes:
1) @8 Slits

2) M6 Nuts

3) M6 Washers

4) M6X20mm cylinder screws

Version B uses the three threaded holes:
5) M6 threaded holes

o 6) M6X20mm cylinder screws

vy]

20



Smoke outlet to rear outlet

INSTALLATION OF THE SMOKE OUTLET FOR REAR OUTLET.
The stove is ready for top exit on delivery, but can be changed to rear exit in the fol-
lowing way.

1. Remove the cover (1) and gasket (2) from the rear outlet and mount it on the top
outlet, with the three M6 nuts(3).

2. Mount the smoke connection (4) on the rear exit. See the section mounting of
smoke outlet spigot.

21

a9



a9

installation with swivel base

The wood-burning stove can be
supplied with a swivel base. To make
installation easier, the wood-burning
stove is delivered turned 45° to the left.
This ensures easier access to the
transport screws, which must be
removed when setting up.

The plastic block marked “FRONT”
represents the wood-burning stove’s
actual midpoint and sits in the front
of the swivel base. The block must
therefore be at 90° in relation to the
wall when setting up. The block shall
subsequently be removed by carefully
pulling it out.

Once the wood-burning stove is in
position, the transport fittings can

be removed. The swivel base can now
move.

Front block.

Air intake cover.

22




REMOVAL OF SAFETY TRANSPORT FITTINGS

The swivel base is fitted below the wood-burning stove
and locked during transport using two wing screws. See
below for how to remove these.

The swivel base setting options:
-to turn 90° (45° on each side) - (set to this on delivery)
-to turn 360°

Remove the cover on the rear of the wood-burning stove in
order to remove the screws.

The swivel base lock (spring) can be tightened by
loosening the screw for the adjustment fitting and
moving the fitting to the plus mark. (1) Remember to
re-tighten the screw.

Remove the two wing screws. (2) The wood-burning
stove can now turn 45° in either direction.

For swivel base setting 360°: Remove the stop screw
(3). The wood-burning stove can now turn freely.

23

a9



a9

Mounting of the stones for Juno 120 L

STEP1.

To mount the bottom side stones in
the bottom row.

Place the stones over the pins, on the
bottom plate of the stove. Place the
steel brackets on the stones and put
in the @8 pins. Fix the brackets to the
stove with the two screws.

4717009

Fix the brackets to the stove.
24

M5x12 Hex Socket
Cap Screw Low Head

4710102



Mounting of the stones for Juno 120 L

STEP 2.

To mount the back stones in the bot-
tom row.

Place the stones on the pins on
the bottom plate as shown. Fix
the stones in the top, by inser-
ting the four pins through the
steel ring.

@8 Pins

25

a9



a9

Mounting of the stones for Juno 120 L

STEP 3- TOP OUTLET
To mount the stones in the middle row.
Place the stones over the pins in the lower steel ring, place the steel bracket

(4730101sv) on top of the burning chamber to fix the stones. Make sure the bracket is
engaged on both contact surfaces. Place the steel bracket 4730116sv

4730101sv 4717007

The gap between the door and
the bracket can be adjusted
with these two screws 4717008



Mounting of the stones for Juno 120 L

STEP 3 - BACKOUTLET

To mount the stones in the middle row.

Place the two back stones (4717004 & 4717005) over the pins in the lower steel ring,
Fix them to the bottom ring with the locking brackets (4710111) by loosening the

M5 Hex bolt then slide the locking brackets down into the slits in the bottom ring.
Tighten the M5 Hex bolt again. Place the side stones over the pins in the bottom ring,
place the steel bracket (4730101sv) on top of the burning chamber to fix the stones.
Make sure the bracket is engaged on both contact surfaces. Place the steel bracket
4730116sv

4730116sv

4730101sv 4717007

The gap between the door and
the bracket can be adjusted
with these two screws

4717005

4717004
4710111

27

a9



Mounting of the stones for Juno 120 L

STEP 4.
To mount the left front stone in the bottom row.

Fix the bracket (4710115) to the bracket (4710103sv) with the M5x12 screw, and place
them on the stone. Place the bracket and stone on the bottom plate, and fix the
bracket to the stove with the other M5x12 screw.

@)
(os]

M5x12 Hex Socket
Cap Screw Low Head

4710103sv

B
@ M5x12 screw
28



Mounting of the stones for Juno 120 L

STEP 5.
To mount the right front stone in the bottom row.

Place the bracket (4710108sv) on the stone. Place the bracket and stone on the bot-
tom plate, and fix the bracket to the stove with the M5x12 screws.

M5x12 Hex Socket
Cap Screw Low Head

(@)
4710108sv

M5x12 screws

29

a9



Mounting of the stones for Juno 120 L

STEP 6. TOP OUTLET

To mount the top stone.

Place the top stone on the two guiding bolts on the steel bracket using the holes
on the bottom of the top stone. Plase the steel bracket 4310115 in the slit in the top
plate, and place the small part of the top plate on the bracket.

4717002

4717003

a9

4310115

Guides for top plate

30



Mounting of the stones for Juno 120 L

STEP 6. BACKOUTLET

To mount the top stone.

Place the top stone on the two guiding bolts on the steel bracket using the holes on
the bottom of the top stone.

4717001

Guides for top plate

31

a9



a9

Mounting of the stones for Juno 120 L G

STEP1.

To mount the side stones in the bot-
tom row.

Place the stones over the pins, on the
bottom plate of the stove. Place the
steel brackets on the stones and fix
the brackets to the stove with the two
screws.

4720102sv
Cap Screw Low Head

M5x12 Hex Socket

4720104sv

Fix the brackets to the stove.

32



Mounting of the stones for Juno 120 L G

STEP 2.

To mount the back stones in the
bottom row.

Place the stones on the pins on
the bottom plate as shown. Fix
the stones in the top, by inser-
ting the four pins through the
steel ring.

@8 Pins

4717011

33

a9



a9

Mounting of the stones for Juno 120 L G

STEP 3 - TOP OUTLET
To mount the rear stones in the middle row.
Place the back stones (4717008) over the pins in the lower steel ring. Place the steel

bracket (4740101sv) on top of the burning chamber, fixing the stones. Make sure the
bracket is engaged on both contact surfaces. Place the steel bracket 4730116sv.

4730116sv

The gap between the door and
the bracket can be adjusted
with these two screws




Mounting of the stones for Juno 120 L G

STEP 3 - BACKOUTLET

To mount the rear stones in the middle row.

Place the two back stones (4717004 & 4717005) over the pins in the lower steel ring,
Fix them to the bottom ring with the locking brackets (4710111) by loosening the

M5 Hex bolt then slide the locking brackets down into the slits in the bottom ring.
Tighten the M5 Hex bolt again. Place the steel bracket (4730101sv) on top of the bur-
ning chamber to fix the stones. Make sure the bracket is engaged on both contact
surfaces. Place the steel bracket 4730116sv

473011 GSV5 _

4740101sv

The gap between the door and
the bracket can be adjusted
with these two screws

4710111

M5x10 Hexagon
Head set screw
M5 Washer

35

a9



a9

Mounting of the stones for Juno 120 L G

STEP 4.
To mount the left front stone in the bottom row.
Fix the bracket (4710115) to the bracket (4710103sv) with the M5x12 screw, and place

them on the stone. Place the bracket and stone on the bottom plate, and fix the
bracket to the stove with the other M5x12 screw.

o
4710103sv
M5x12 Hex Socket
Cap Screw Low Head

(o8]

4710115
4717006

M5x12 screw

36



Mounting of the stones for Juno 120 L G

STEP 5.
To mount the right front stone in the bottom row.

Place the bracket (4710108sv) on the stone. Place the bracket and stone on the bot-
tom plate, and fix the bracket to the stove with the M5x12 screws.

M5x12 Hex Socket
Cap Screw Low Head

4710108sv

M5x12 screws

a9



Mounting of the stones for Juno 120 L G

STEP 6. TOP OUTLET

To mount the top stone.

Place the top stone on the two guiding bolts on the steel bracket using the holes
on the bottom of the top stone. Plase the steel bracket 4310115 in the slit in the top
plate, and place the small part of the top plate on the bracket.

a9

4717003

4310115

Guides for top plate

38



Mounting of the stones for Juno 120 L G

STEP 6. BACKOUTLET

To mount the top stone.

Place the top stone on the two guiding bolts on the steel bracket using the holes on
the bottom of the top stone.

4717002

Guides for top plate

39

a9



a9

Mounting of the stones for Juno 160 L

STEP1.

To mount the bottom side stones in
the bottom row.

Place the stones over the pins, on the
bottom plate of the stove. Place the
steel brackets on the stones and put
in the @8 pins. Fix the brackets to the
stove with the two screws.

M5x12 Hex Socket
Cap Screw Low Head

4710104 4710102
4717009 4717009

Fix the brackets to the stove.

40



Mounting of the stones for Juno 160 L

STEP 2.

To mount the back stones in the
bottom row.

Place the stones on the pins on
the bottom plate as shown. Fix
the stones in the top, by inser-

ting the four pins through the
steel ring.

4717010

4717011

@8 Pins

41

a9



a9

Mounting of the stones - Juno 160 L

STEP 3 - TOP OUTLET
To mount the stones in the middle row.

Place the side stones (4717007) over the pins in the lower steel ring, place the steel
bracket (4710101sv) on top of the burning chamber to fix the stones. Make sure the
bracket is engaged on both contact surfaces. Place the back stones (4717008) over
the pins in the lower steel ring. fix the stones in the top with the two @8 pins.

4710101sv

The gap between the door and
the bracket can be adjusted
with these two screws

42



Mounting of the stones - Juno 160 L

STEP 3 - BACKOUTLET
To mount the stones in the middle row.

Place the two back stones (4717004 & 4717005) over the pins in the lower steel ring,
Fix them to the bottom ring with the locking brackets (4710111) by loosening the

M5 Hex bolt then slide the locking brackets down into the slits in the bottom ring.
Tighten the M5 Hex bolt again. Place the side stones over the pins in the bottom ring,
place the steel bracket (4710101sv) on top of the burning chamber to fix the stones.
Make sure the bracket is engaged on both contact surfaces. Place the steel bracket
4730116sv

4710101sv

The gap between the door and
the bracket can be adjusted

with these two screws
M5 Washer

M5x10 Hexagon
Head Set Screw

4717007

43

a9



a9

Mounting of the stones - Juno 160 L

STEP 4.
To mount the left front stone in the bottom row.
Fix the bracket (4710115) to the bracket (4710103sv) with the M5x12 screw, and place

them on the stone. Place the bracket and stone on the bottom plate, and fix the
bracket to the stove with the other M5x12 screw.

Cap Screw Low Head

M5x12 Hex Socket
4710103sv

M5x12 screw

44



Mounting of the stones - Juno 160 L

STEP 5.
To mount the right front stone in the bottom row.

Place the bracket (4710108sv) on the stone. Place the bracket and stone on the bot-
tom plate, and fix the bracket to the stove with the M5x12 screws.

M5x12 Hex Socket
Cap Screw Low Head

4710108sv

M5x12 screws

a9



a9

Mounting of the stones - Juno 160 L

STEP 6.

To mount the back stones in the top row.

Mount the bracket (4710116sv)
to the stove with the four M5x10
screws. Place the two @8 pins.

Place the two stones on the pins
and fix the stone together with the
bracket (4710107sv)

M5x12 Hex Socket
Cap Screw Low Head

@8 Pin
4710116sv




Mounting of the stones - Juno 160 L

STEP 7.

To mount the side and front stones in the top row.

Place the side and front stones on
the pins in the steel bracket. Fix
the stones with the steel bracket
(4710106svV)

4717006

4717006

a9



Mounting of the stones - Juno 160 L

STEP 8. TOP OUTLET

To mount the top stone.

Place the top stone on the two guiding bolts on the steel bracket using the holes
on the bottom of the top stone. Plase the steel bracket 4310115 in the slit in the top
plate, and place the small part of the top plate on the bracket.

a9

4717002
4717003

4310115

48



Mounting of the stones - Juno 160 L

STEP 8. BACKOUTLET

To mount the top stone.

Place the top stone on the two guiding bolts on the steel bracket using the holes on
the bottom of the top stone.

Guides for top plate

49

a9



a9

Mounting of the stones - Juno 160 L G

STEP1.

To mount the bottom side stones in
the bottom row.

Place the stones over the pins, on the

bottom plate of the stove. Place the
steel brackets on the stones and fix

the brackets to the stove with the two

SCrews.

50

Fix the brackets to the stove.

M5x12 Hex Socket

4720104sv
A

4720102sv

M5x12 Hex Socket ~ 4717009
Cap Screw low head

4717009

Cap Screw low head



Mounting of the stones - Juno 160 L G

STEP 2.

To mount the back stones in the bottom row.

Place the stones on the pins on
the bottom plate as shown. Fix
the stones in the top, by inser-
ting the four pins through the
steel ring.

@8x36 Pin &

4717011
4717010

@8 Pins

51



a9

Mounting of the stones - Juno 160 L G

STEP 3 - TOP OUTLET
To mount the stones in the middle row.

Place the backstones (4717008) over the pins in the lower steel ring, place the steel
bracket (4720101sv) on top of the combustion chamber. Make sure the bracket is
engaged on both contact surfaces. Fix the stones by inserting the two @8 pins at the
top.

4720101sv @8 Pin

The gap between the door and
the bracket can be adjusted
with these four screws

52



Mounting of the stones - Juno 160 L G

STEP 3 - BACKOUTLET

To mount the stones in the middle row.

Place the two back stones (4717004 & 4717005) over the pins in the lower steel ring,
Fix them to the bottom ring with the locking brackets (4710111) by loosening the

M5 Hex bolt then slide the locking brackets down into the slits in the bottom ring.
Tighten the M5 Hex bolt again. Place the steel bracket (4720101sv) on top of the bur-
ning chamber, make sure the bracket is engaged on both contact surfaces. Fix the
stones by inserting the two @8 pins at the top.

4720101sv
@8x36 Pin

The gap between the door and
the bracket can be adjusted
with these four screws

M5x10 Hexagon
Head Set Screw

53

a9



a9

Mounting of the stones - Juno 160 L G

STEP 4.

To mount the left front stone in the bottom row.

Fix the bracket (4710115) to the bracket (4710103sv) with the M5x12 screw, and place
them on the stone. Place the bracket and stone on the bottom plate, and fix the
bracket to the stove with the other M5x12 screw.

M5x12 Hex Socket
Cap Screw low head

M5x12 screw
54



Mounting of the stones - Juno 160 L G

STEP 5.
To mount the right front stone in the bottom row.

Place the bracket (4710108sv) on the stone. Place the bracket and stone on the bot-
tom plate, and fix the bracket to the stove with the M5x12 screws.

vy}
M5x12 Hex Socket
Cap Screw low head

4710108sv

(@]

M5x12 screws

55

a9



a9

Mounting of the stones - Juno 160 L G

STEP 6.

To mount the back stones in the top row.

Mount the bracket (4710116sv)
to the stove with the four M5x10
screws. Place the two @8 pins.

Place the two stones on the pins

and fix the stone together with the D 4710107sv

bracket (4710107sv) ST
B2
x
83
o3
X G
Ly
2 o
X @
< O

56

J8x36 Pin
4710116sv



Mounting of the stones - Juno 160 L G

STEP 7.

To mount the side and front stones in the top row.

Place the side and front stones on
the pins in the steel bracket. Fix
the stones with the steel bracket
(4710106svV)

4710106sv

4717009

4717006
4717006

57

a9



a9

Mounting of the stones - Juno 160 L G

STEP 8. TOP OUTLET

To mount the top stone.

Place the top stone on the three guiding bolts on the steel bracket using the holes
on the bottom of the top stone. Plase the steel bracket 4310115 in the slit in the top
plate, and place the small part of the top plate on the bracket.

a1e|d dog 4o} sepiny

58



Mounting of the stones - Juno 160 L G

STEP 8. BACKOUTLET

To mount the top stone.

Place the top stone on the three guiding bolts on the steel bracket using the holes on
the bottom of the top stone.

o1e|d doj Joy sepiny

59

a9



a9

Airinlet cover

The air inlet cover is not mounted at delivery, and needs to be mounted. when the
stones are mounted, the air inlet cover can be mounted with the two delivered M5x12
screws.

4710113
M5x12

60



Alternate top plate location

The top plate can be mounted without
a gap between the top plate and the
wood burning stove, if no convection
dampers are mounted on the wood
burning stove.

Gap

DO NOT REMOVE ALLTHE
SCREWS AT ONCE

Remove the top plate and then loosen
one of the 3 screws (1) remove the
bushing (2), reposition the screw (1)
This is done on all three bushings.

The top plate is positioned so that the
3 screws guide the top plate. Now the
gap is gone.

61

a9



a9

62

Yiacwrk S DANAK TEKNOLOGISK
7 INSTITUT
TEST Reg<nr. 300 Teknologiparken

Kongsvang Allé 29
DK-8000 Aarhus C

TEKNOLOGISK INSTITUT Phone +45 72 20 10 00
Akkrediteret provningsorgan, DANAK-akkreditering nr. 300 T niogede

Notificeret prgvningsorgan med ID-nr. 1235

Prgvningsattest IV

Uddrag af rapport nr. 300-ELAB-2211-EN Rev2, 300-ELAB-2211-NS-CA Rev1l, AoP

Juno L dated 15.09.2021 and Assessment Juno L dated 15.09.2021

Emne: Braendeovne m sideruder; Juno 120 L G, Juno 120 L G CA, Juno 120 L G Classic,
Juno 120 L G Classic CA, Juno 160 L G, Juno 160 L G CA, Juno 160 L G Classic,
Juno 160 L G Classic CA
Braendeovne uden sideruder; Juno 120 L, Juno 120 L CA, Juno 120 L Classic, Juno
120 L Classic CA, Juno 160 L, Juno 160 L CA, Juno 160 L Classic, Juno 160 L
Classic CA

Rekvirent: Rais A/S, Industrivej 20, 9900 Frederikshavn
CVR nr.:25195612 P-nr.:1001580195

Procedure: X Prgvning efter DS/EN13240/A2:2004
X | Prgvning efter NS3058-1 & -2 (partikelmaling)
X | Emissionsmaling efter CEN/TS 15883 (stgv og OGC)

Prgvningsresultater

Akkrediteret prgvning af breendeovn iht. EN 13240 er foretaget med braende, der péfyres
manuelt, og folgende resultater blev opndet:

Nominel ydelse: 5.6 kw

CO-emission: 0.060 % - henfgrt til 13 % O

Virkningsgrad: 80 %

Rgggastemperatur: 282 °C

Afstande til brandbart: Se vejledningen

Emissioner iht. NS 3058 og/eller CEN/TS 15883:

Partikler efter NS 3058: 1.89 g/kg (tgrstof) middelvaerdi (krav 2015:5 / 2017:4)
Partikler efter NS 3058: 1.93 g/kg (tgrstof) maksimalt (krav 2015:10 / 2017:8)

OGC efter CEN/TS 15883: 43 mgC/Nm3 ved 13% O (krav 2015:150 / 2017:120)
Stgv efter CEN/TS 15883: 6 mg/Nm3 ved 13% O (krav 2015:40 / 2017:30)

Bemeerk venligst, at de oplyste veerdier er et uddrag af prgvningsrapporten.
For yderligere oplysninger henvises til prgvningsrapporten, se nummer ovenfor.

Aarhus, den 15. september 2021
i S

\]%Z} ‘deéen

_Senior, pec alist

Skorstensfejerpategning

Pa baggrund af ovennaevnte emissioner attesteres det hermed, at fyringsanlaegget opfylder
emissionskravene i bilag 1 til Bekendtggrelse nr. 541 af 27/4-2020 vedr. regulering af
luftforurening fra fyringsanlaeg til fast braendsel under 1 MW.



1. Unique identification code of

the product-type

2. Type
3. Intended use
4. Manufacturer

UK DECLARATION OF PERFORMANCE

CPR 2011 (Retained EU law 305/2011) as amended

No.: 471

Juno 120 L, Juno 120 L G, Juno 120 L Classic, Juno 120 L G Classic

Juno 120 L CA, Juno 120 L G CA, Juno 120 L CA Classic, Juno 120 L G CA Classic

Juno 160 L, Juno 160 L G, Juno 160 L Classic, Juno 160 L G Classic
Juno 160 L CA, Juno 160 L G CA, Juno 160 L CA Classic, Juno 160 L G CA Classic
Room heater burning solid fuel without hot water supply

Domestic room heater

RAIS AIS

Industrivej 20, Vangen
DK-9900 Frederikshavn,
Denmark

5. Authorised representative n/a

6. System of assessment AVCP System 3

7. Approved Body

8. Declared performance

Telephone +45 98 47 90 33
Telefax +45 98 47 92 91
Webmail kundeservice@rais.dk
Homepage Www.rais.com

Approved Body — Kiwa Ltd No. 0558 and Report Number 61589

Performed the determination of the product type on the basis of type testing under system 3 and issued test report

Harmonized technical specification:

EN 13240:2003/A2:2004

ART 25 OF FIRE

®

Essential characteristics

Fire safety Juno L JunoL G
Readtion to fire Al
Distance to combustible materials rear. 75 mm 75 mm
Minimum distances [mm] sides 400 mm 500 mm
For other installation or wall ceiling 450 mm 450 mm
settings see instruction manual Front 850 mm 800 mm
Floor 270 mm 270 mm
Risk of burning fuel falling out Pass
OGC (mg/Nm? rel. 13 Vol-% Oz) 43
CO-emission of combustion products 0,0602 % /
752 mg/Nm?*
NOx (mg/Nm® rel. 13 Vol-% Oz) 80
Dust at (rel. 13 Vol-% Oz) 6 mg/Nm®
Surface Pass
Electrical safety NPD
Cl ili Pass
Maximum operating pressure - bar
Flue gas temperature T at nominal heat
outpug! B 282°C
Mechanical resistance
(tocarry a i
Thermal output
Nominal heat output 4,8 kKW
Room heating output 4,8 kW
Water heating output -kw
Energy efficiency "/ 80%
Seaonal Efficiency /]s,0n 0%

9. The performance of the product identified in points 1 and 2 is in conformity with the declared performance in point 8.
This declaration of performance is issued under the sole responsibility of the manufacturer identified in point 4.

Signed for and on behalf of the manufacturer by:

Place FREDERIKSHAVN, DENMARK

Date 16-05-2023

John Engell Nielsen, R&D / Quality Manager

63

a9



a9

SPARE PART LISTJUNO L

xx: optional colour code

POS. Item number Title
1 1712090 Glass door - Single glass
2 17121XX Classic door - Single glass
3 |61-00 Flue collar 8”
4 7301026 BA 1 spring
5 1711890 Locking mechanism - Top
6 |1711891 Locking mechanism - Bottom
7 (1712200 Skamol set
8 1313800 Shaking grate
9 1314001 Ash pan
10 |1715500-6 Gasket set for doors
11 [1710924 Wire for airdamper
12 [1710990 Airdamper - CleverAir
13 | 1711790 Airdamper - Manual

64




SPARE PART DRAWING JUNO L

65

a9



a9

SPARE PART LISTJUNO L G

xx: optional colour code

POS. Item number Title
1 1711090 Glass door - Double glass
2 17111XX Classic door - Double glass
3 61-00 Flue collar 6”

4 7301026 BA 1 spring

5 1711890 Locking mechanism - Top
6 |1711891 Locking mechanism - Bottom
7 1313800 Shaking grate

8 1314001 Ash pan

9 [1715500-6 Gasket set for doors

10 | 1710924 Wire for airdamper

11 1710990 Airdamper - CleverAir

12 | 1711790 Airdamper - Manual

13 | 1712200-1 Skamol set

14 | 471270190 Steel side - Left

15 | 471270290 Steel side - Right

16 | 1715002 Inner glass

17 | 1715003 Side Outer glass Left

18 | 1715004 Side Outer glass Right

66




SPARE PART DRAWING JUNO L G

GB

67



| | ¢N

T0000LTLY v 9102 si0% [e0% [ 907 [60F [g1% [ wwoorud
'ou Bumelglioisiney| :300l04d| WW | 3ST39IAIV
50-07 | 0L-0%] 0z-0% 06-0F] 09F |3STIOINIVIBINIA

0/49 1 09T oun(eweu bumeiq|
TYWIIMNIA §04 ¥3S139IAJY 31AVTIIL
__m:mumﬁw_mh.zgz “aBedaWoH - 3p'SieIDoN

TLF | 80F] SOF| €0F| z0F| L0F| LOF
26 LY 86 Gh+ XBd - €€ 06 LY 86 GP-

30IS JUSILHON

. £ 002-000+ [000+-00% | 00v-0z+| 0Z1-08| 09 | 9€ | €60
oaad NAVHSHRICES 0088 1 (AARLSNANI TV 93N 404 43S T130IAIY 3LAVTILL

" i 1oL pueg g
Y

5] 3 Ofgen

eloig|:

d juswanoidu| :abueyd Bumelq
Japio abuey)n

pabueyo mmco_wi 1202-50-50
B Ol AW ad

SOAPSTONE SET JUNO 160 L BACKOUTLET

GXGIN Y1asul papeay) ul-ssaud /14981 9Y0L NEXGIN ZL¥98EL 9¥0L Nd| Z | 0L
209 W}y 3U0}S apIS. cloLLiy| T | 6
TLLOLLLY| L 8
! 0L0LLLY| L L
wiw |t 8U0)Ss apIS ‘600LLLP| ¥ | 9
ww}o/ 8uols apis L00LbLy| T | S
§'2. WW | py 8UO}S BpIS ‘900LLLY| ¥ | ¥
ww]0/ J9EN0 ¥oeq 10} BUOIS Yo S00LLLY| L €
Wi} 0/ 18I0 >9eq 10} 8Uls 1By v00LLLY| L 4
19110 3j0Eq Joj Bu)s do) L00ZLLY| b 3
MXTXHYL JILIL HIFNNN LHvd LON3LI

Soapstone set Juno 160 L B/O - 471700001
Mounting kit Juno 160 L - 4717501XX

xx: optional colour code

I I RT

GB

68



GB

, v

20000£TLb ﬁ v 910z

'ou Buimesglioisiney

G1'0% [ €07 | 907 | 60F [ g1F | wuwgoLd

:jo8loud]

W I 3STIOINIY

0/L 1 09T oungaweu bumeiq

50-07 | 0L-0%] 0z-0% 06-0F] 09F |3STIOINIVIBINIA

30IS 31SILHON
YWISNNIA ¥O4 ¥3ST3OIAJY 3LAVTIIL

- i M -9BedoWOH - ¥ SEID0]
._m__smﬁwm 1186 G+ Xe4 - €€ 06 L 86 St

VTN
sHiewsy

A ‘NAVHSMIYIA3H4 0066 '0Z FIAILSNANI
331440 =3 13V

A A0

;|00 puag|

ST

TLF | 80F| G0F | €0F| ¢0¥| L0F| L 0%
0020004 [0004-00v | 00v-021| 0ZL-0¢| 0€9 | 9€ | €60

YW 393/3INIT Y04 ¥3STIOIAJY 3LAVTIIL

i

£V D @Eﬁ.qo,ﬁ
s PR v_m« d Juswanoidw) :abueyo Buimelq
Jsloig| ueubiseq Japio abuey)n
pabueyo mmco_wi 1202-50-50
: ol AW a
0g,
w&<9

SOAPSTONE SET JUNO 160 L TOP OUTLET

©

wwl p suols apis ‘600LLLY| ¥ | Ob
W |7 191Ul Jfe 10 5UO}S o oLy L | 6
d 0L0LLLY| L 8
L X9'v6lL X 85 1210 doj Joj auo}s doj Jo xoeg €00LLLY| L 9
12pno doj 1o} auoys do 2004017 L S
wwi L0/ 8uojs xoeq 800LLLV| T 14
w0/ suols apis L00Lby| T | €
.09 WW | 2U0)s opIS 2LoLLLv| 2 | 2
0§’ WW| py 8UOIS BpIS 900LLLY| ¥ 3
MXTXHYL JILIL HIGNNN LHvd LON3LI

Soapstone set Juno 160 L T/O - 471700002
Mounting kit Juno 160 L - 4717501XX

xx: optional colour code

69




| | ¢N

1000042t v 9102 SL'0% [£0% | 907 | 60F [ g17 | wwooLud
'ou Bumelglioisiney| :300l04d| WW | 3ST39IAIV
50-07 | 0L-0%] 0z-0% 06-0F] 09F |3STIOINIVIBINIA

0/9 9 7 09T oungaweu bume:q|
YWISNNIA ¥O4 ¥3ST3OIAJY 3LAVTIIL
__mzm.mﬁ.w_s.z;; “aBedallIoH - P SIEIDO) Zi7 ] 807] S0%] €07] z0%] vo¥]| LOF
- 26 Lt 86 Gb+ Xed - €€ 06 L 86 Sb-

. £ 002-000+ [000+-00% | 00v-0z+| 0Z1-08| 09 | 9€ | €60
oaad NAVHSHRICES 0088 1 (AARLSNANI TV 93N 404 43S T130IAIY 3LAVTILL

30IS JUSILHON

" i 1oL pueg g
Y

waos] I Olyorger

d juswanoidu| :abueyd Bumelq
IBA\SIVY B
josloug| uaubisaq 1apJo abuey)|

Ppappe spasu|| Z102-90-v1
B Ol AW ad

i

4717502XX

SOAPSTONE SET JUNO 160 L G BACKOUTLET

Soapstone set Juno 160 L G B/O - 472700001

Mounting kit Juno 160 L G -
xx: optional colour code

GXGIN Hasul papeaiy) ui-ssaid /1y98EL 9v0L NEB@E G'6X2'9XSIN-0LL0| Z | OF
G2/ WW| py 8UOlS BpIS ‘900LLLY| ¥ | 6
w0/ 19)N0 X9Bq J0j BUOJS Yo 'S00LLLY| b 8
Wiui} 0/ 191N0 50€q 10} 8Uls 1yBIYy ¥00LLLY| L L
ww py suals apis 600LLLY| ¥ | 9
ww| i J9|ul Jie Joj Budls Yo CLLOLLLY| L )4
wuw | piy J3|ul JIe 10} BUO)S Jybry 0L0LLLY| b €
509 WW |y duols apis CLlOLLLY| T 4
18AN0 >08q J0} duols doy L00LLLY| L b
MXTXHYL EQIUN HYIFWNN Lovd ALONTLI

I I RT

GB

70



GB

| | ¢N

14

20000424 - 9102 5107 [ €07 | 907 [ 607 [ 817 | wwopsud
'ou Bumelglioisiney| :300l04d| WW | 3ST39IAIV
50-07 | 0L-0F] 0z-0F 06-0F] 09 |3STIOINIVIBNIA

0O/L O 7 09T OUN(sweu Bumeiq

oo mﬁw_m_.z;; “abedawioH - p S0

30IS 31S3LAHON
TVWIZYINIA H04 §3STIOIAIV ILAVTIIL

TLF | 80F] SOF| €0F| z0F| L0F| LOF
26 LY 86 Gh+ XBd - €€ 06 LY 86 GP-

. £ 002-000+ [000+-00% | 00v-0z+| 0Z1-08| 09 | 9€ | €60
oaad NAVHSHRICES 0088 1 (AARLSNANI TV 93N 404 43S T130IAIY 3LAVTILL

" i 1oL pueg g
Y

€Y He0Z-v0-€l
oo ] ©£2H

S d juswanoidu| :abueyd Bumelq
Jsloig| ueubiseq Japio abuey)n

Ui AW a

472700002

8
@049

IN

IN

=

~

o

=

I

IN

X
o
HﬂO

SOAPSTONE SETJUNO 160 L G TOP OUTLET

©

L X9'v6) X8G | 19RN0 do} Joj duoys do} jo soeg €00LLLp] L [ b1
wwl p suols apis ‘600LLLY| ¥ | Ob
WW | ¥ 18|ul JIE IO} 8UO)S Yo LLOLLLY| L 6
Wiy 18]l e Joj 8u0)s 1By 0L0LLLY| L 8
3810 do} 1o} auo}s do 200410 L | G
wuw |0/ 8Uoys Yoeg 800LILYV| T | ¥
.09 WW | 2U0)s opIS 2LoLLLv| 2 | 2
052 WW |yl BUOS 8pIS 900LLLY| ¥ 3
MXTXHYL JILIL HIGNNN LHvd LON3LI

Mounting kit Juno 160 L G - 4717502XX

Soapstone set Juno 160 LG T/O
xx: optional colour code

| ?




SOAPSTONE SET JUNO 120 L BACK OQUTLET

|

i

T0000LELY 9102 0% | ¢0¥ | 90% | 60% | g1% | wwooiud
-ou Buimelq| :uoisinay| 108l01d] WIN 1 38739IAIY
S00F | 0107 020F] 0607 00F | 3STHONVIDNA
0/8 70T oun(  :aweu bumesg X N 3015 3LS3L40¥
TYWIINNIA ¥04 ¥3STIDIAY FLAVTIIL
ey Y ST GOeGaL0H 3 SEIDON RS 717 [ 07| 507 [ cor] zo¥] vor] vov

Syleway|

16 26 Lt 86 S+ Xed - €€ 06 Lb 86 Gy+ BUOU]

MHYINNIA ‘NAYHSYINIAIYS 0066 ‘0Z FIAIMLSNANI
341440 =2 LAV

YN 3¥F/3INITHO4 ¥3ST130INIY 3LAVTIIL

9€ £60

" " 0oL peeg g
’ o)

i

) 4 © . :
NSV :lesodoud juswanosdw) :abueyd Bumelq
:panoiddy | .Jebeuew joelold| ) usubisaq| Jopio wmcwco
1SUOBMOD) AWNGa
GXGIN Hsul papeaiy) u-ssaid /1y98€ L 9v0L N8| NS@8 §'6XLOXGN-0L0[ Z [ 11
Wy J9|ut JIE 10} aU0}s Jybry 0L0LLLE| b | Ob
621 WW| pp 8UO}S 8pIS ‘900LLL8| T 6
N0 oBq 10} 8UOJS Y3 G00LLLp| L 8
W0/ 18130 %0eq o} 8u0js 1yBry Y00LLLY| L L
Wy 3U0jS 3pIS 600LLLy| T S
Joj auojs Yo Loky| b 14
W0/ BUOlS BPIS 200LLL%| T €
18)IN0 Yoeq Joj auojs do|. L00LLLP| L 3
MXTXH4L ELIUS YIENNN L8vd ALD | W3LI

Soapstone set Juno 120 L B/O - 473700001
Mounting kit Juno 120 L G - 4717503XX

xx: optional colour code

I

GB

I

2



GB

| | ¢N

73

20000£EL - 9102 5107 [ €07 | 907 [ 607 [ 817 | wwopsud
'ou Bumelglioisiney| :300l04d| WW | 3ST39IAIV
50-07 | 0L-0%] 0z-0% 06-0F] 09F |3STIOINIVIBINIA

0O/L 7 02T oungeweu bumeiq|

TYWIDINIA 504 H3STIOIAIY 3LAVTIL
T e | Tl sorl sor| corlcurl Lo: | ms
b : 002-000} |0004-00% | 00¥-0Z}| OZL-0€| 0€-9 9€ €60

AN NAVHSMIIRICE 0066 102 (AARLSAAN! TV 93N 404 43S T130IAIY 3LAVTILL

30IS JUSILHON

" i 1oL pueg g
Y

€Y 1e0Z-v0-G1
oo ] ©£2H

S d juswanoidu| :abueyd Bumelq
Jsloig| ueubiseq Japio abuey)n

Ui AW a

i

SOAPSTONE SETJUNO 120 LTOP OUTLET

©

ww} p dU03s dpIs ‘6004 T | 8
Wiy 18]l Jie Joj 8u0)s 1By 0L0LLLY| L L
WW | ¥ 18|ul JIE IO} 8UO)S Yo LLOLLLY| L 9
wuw |0/ 8Uo}s Yoeg 800LbLV| T | S
wiwL 0/ duojs apIs 100LbLY| T )4
L X9'v6l X 85 12An0 doj 1o} auOls doy Jo oeg €00LLLY| L €
19)no doj Joj 8uo)s do 200LLLp| L | T
0§’ WW| py 8UOIS BpIS 900LbLY| T 3
MXTXHYL JILIL HIGNNN LHvd LON3LI

Soapstone set Juno 120 L T/O - 473700002
Mounting kit Juno 120 L G - 4717503XX

xx: optional colour code

| ?




| | ¢N

T0000£bLy - 9l0z 5107 [£0% [ 907 | 607 [ glv | wwooud
'ou Bumelglioisiney| :300l04d| WW | 3ST39IAIV
50-07 | 0L-0%] 0z-0% 06-0F] 09F |3STIOINIVIBINIA

0/9 O 7 02T OUN(sweu Bumeiq

oo mﬁw_m_.z;; “abedawioH - p S0

30IS 31S3LAHON
TVWIZYINIA H04 §3STIOIAIV ILAVTIIL

TLF | 80F] SOF| €0F| z0F| L0F| LOF
26 LY 86 Gh+ XBd - €€ 06 LY 86 GP-

. £ 002-000+ [000+-00% | 00v-0z+| 0Z1-08| 09 | 9€ | €60
oaad NAVHSHRICES 0088 1 (AARLSNANI TV 93N 404 43S T130IAIY 3LAVTILL

" i 1oL pueg g
Y

waos] I Olyorger

d juswanoidu| :abueyd Bumelq
IBA\SIVY B
josloug| uaubisaq 1apJo abuey)|

Ui AW a

474700001

SXGIN Jiosul papeaiy) ur-ssaid /1 ¥98EL 9v0L MEBIPS §'6X2 9XSIN-0L L0

SOAPSTONE SET JUNO 120 L G BACK QUTLET

2§'Z/ WW|pp BUOS BPIS 9004} LY

w0/ 38)N0 oBq 10j BUO}S Yo 'G00LLLY
ww 0/ 18I0 9€q 10} 3OS By 00L) LY
Wiyt 8UO)S 8pIS '600LLLY

R R E IR R NI
—|a|eo|s|e|~|o|o

wiwl i J9|ul e Joj suals ya] LoLLLy
ww i 38|ul 10} BU0}s by 0L0LLLY
8RN0 308 J0} duols doy L00L} LY
MXTXHYL 3ILIL ¥IANNN LHvd ALONTLI

Mounting kit Juno 120 L G - 4717504XX

Soapstone set Juno 120 L G B/O -
xx: optional colour code

T T RT

GB

74



GB

, v

200004¥LY

rou m:_sm_n_ﬁo_m_%m

0O/L O 7 0ZT OuNn(sweu Bumeiq

- 9102 G1'0F [£0% | 90% [ 60F [ g1+ | wuwgorud
:posloid W 1 3ST3DINIY
.50-0% [ 01-0%] ,02-0%] .06-0%] .09 [3STIONIVIBINIA

30IS 31SILHON
YWISNNIA ¥O4 ¥3ST3OIAJY 3LAVTIIL

- i M -9BedoWOH - ¥ SEID0]
._mzsmﬁwm 1186 G+ Xe4 - €€ 06 L 86 St

oaad NAVHSHRICES 0088 1 (AARLSNANI TV 93N 404 43S T130IAIY 3LAVTILL

[l

i 1oL pueg g
Y

TLF | 80F| G0F | €0F| ¢0¥| L0F| L 0%
0020004 [0004-00v | 00v-021| 0ZL-0¢| 0€9 | 9€ | €60

€Y 1e0Z-v0-91
oo ] O£

S d juswanoidu| :abueyd Bumelq
Jsloig| ueubiseq Japio abuey)n

Ui AW a

SOAPSTONE SETJUNO 120 L G TOP OUTLET

&
@%e

E’
N
=
~
o
=

©

L X9'v6lL X 8§ 12An0 doj 1o} auols doy Jo oeg €00LLLY| L 8
ww} p dU03s dpIs '600LLLY| T | L
Wiy 18]l e Joj 8u0)s 1By 0L0LLLY| L 9
wiw i J9|ul Jie Joj suojs ya LLOLLLY| L S
w0/ auoys yoeg 800LLLY| T | ¥
181no doj Joj auos do 200LLL%| L 4
052 WW |yl BUOS 8pIS 900LbLY| T 3
MXTXHYL JILIL HIGNNN LHvd LON3LI

Soapstone set Juno 120 L G T/O - 474700002

Mounting kit Juno 120 L G - 4717504XX

xx: optional colour code

I

5




ART OF # FIRE

RAISA/S

Industrivej 20

DK-9900 Frederikshavn
Denmark

www.rais.com

attika

FEUERKULTUR

ATTIKA FEUER AG
Brunnmatt 16
CH-6330 Cham
Switzerland
www.attika.ch



Rev Dato Tekst

11-07-2022 Tegning 4718606 rettet.
25-10-2022 Reservedelstegninger tilfgjet.
12-12-2022 Nye CE labels med UKCA tilfgjet
01-05-2023  Test institute changed to KIWA

~No oM





